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L3t 5 1 35 P e 25°C, Mk & 10dm’ B e R 77, RUASAT 2 48 22 8 7,
7y 2 R,
(A)247.88 Pa (B)2.48atm  (C)24.7bar (D)247.88kPa

2. 8RR 10 5,48 298.15K B3] 2 4% 4 1dm’ (B 3% A.828 4% Van der wall
state equation, . & %o 3 % # % a=1.408x10"* Pa-m®mol™ ~ b=0.3913
x10" m*mol® 353t H & A o
(A) 867.34kPa (B) 885.3kpa (C)1028Pa  (D)10.15 atm

3. — & & RAAL 10dm’ 775 L0008 2 B A 300kPa F R 4 £ S5dm’ #F, K
UARFERN L% Lt -
(A)1500] (B)-1500J (C)300 cal  (D)-300cal

4. Rk R H B4 By 57 0E, BT BORUJTE 04 RTE T 31?
AE@&RE B)—#&ZE (CO—®BRE (D) =Z&KRE

S. =L & A — B R JEH 4984t L ¥4 B0 4 28 < - k&bt
ARG F AP o 5 HAFRKT lug AlEE 50 4£14 BN
ERG %D ng Bl & ?
(A)0.709 (B)0.668 (C)0.534 (D)0.290
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1) 2 3] BT ? (CRAE R 17K )
(A)0.25(B)5.144  (C)4.644 (D) 0.194

8. 4 3 A8 VAR 2 A T R R B Y
(AyzgmFrEz3l 1mE B)RAKEHEPILALT (CEBAR
AT B 54 Henry'slaw (D) SRA4BEILA L

9. ## Raoult’s law 2 #3477 R JE#E 7
(AR EEE M A A2 R B) Bika-FR23] 146
(COP,=XoxPy*, Py* o kA (D) BB £ R K7 B B » 1
gl A RPDBES FRZIAN

10. ¥ R B8 dy 600K 5% & 800K, R ik & ¥ $3% ho B R S 0h 10 4%
JHEEHE R

(A)199.5 kJ/mol (B) 45.95k]/mol (C)453 J/mol (D) 653 J/mol

VL A8 P72 A, 45 oR AR B 247 4 B 4R 2 7

(A)aH=aH? (B) a8"=aS" (C) AG*=AGP (D) AU=AUP

12. One mole of an ideal gas is expanded from a volume of 1.00 liter to a
volume of 10.00 liters against a constant external pressure of 1.00 atm.
How much work (in joules) is performed on the surroundings? (7"= 300
K;l1Latm=101.3J)(A)456] (B)912] (C)2740] (D)2870])

(E) none of these.

13. Which of the following chemical or physical changes is an endothermic
process? (A) the evaporation of water (B) the combustion of gasoline
(C) the mixing of sulfuric acid and water (D) the freezing of water

(E) none of these.

14. Consider the following rate law: Rate = A[A}?[B]#
How are the exponents »# and m determined?

(A) By using the balanced chemical equation (B) By using the
subscripts for the chemical formulas (C) By using the coefficients of
the chemical formulas (D) By educated guess (E) By experiment

15. Of energy, work, enthalpy, and heat, how many are state functions?
(AY0(B)1(C)2(D)3(E)4
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P 45 2 35 (10%)

I {38 4% it % (the colligative properties)? 354 3 #8647 B # '8 B R A9 1R &
PEE 7 (6%)
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5 3,4 w14 K(4%)

H— e F— &
o)y T \ar)y, T 7 \eV)y T \&S, T
3t H 2(60%)

4% 29 g NaCI(MW= 58 g/mol) ## | kg K ¥ (AR % E A lg/idm’), s
kil &k AR 2 760 Torr. 3+ sbiak 2 5t Bl 2 R e BB B (25 C) A FTIKZ
B I F %% 3 K, A 1.855 K kg mol™. (10%)

Fay R E B IR 101.325kPa a5 % 35325 KL A Rk RSB R
60.00°C » MR AESE S D7 s k8% Trouton’s rule = (10%)

5 % 3210 dm’ 4932 48 £,42(C,=3/2 R)» 7 & 35.(1000k)42 /- B %k £ 300dm’ »
KRBz RN RAassh W o (5%)

D HEIEAAAE (Cv=3/2R) > & 25°C ~ 10.00 dm’ i 47 7T i 48 2B PR A2
BAEIRE 100 dm’ » Robf A RBATER ) © (10%)

K 0°C B 2 AL & 6.025 kl/mol » Ak Fe ik eh 3 HF B & 5 9 & 753 and
37.7 JK 'mol™ o Cp {5 9238 & & B « 3 E % lmol»-10.0 Ci@#A 49K E AH
Bk %027 - (10%)

NO(g) AG® =51.30 kI mol™ ~ NyOu(g) AG°=  102.00 kI mol”, f£4% %k
#(s.s) : Ibar and 25°C)F .3 H(15%)

A, BB AREAEHATERE N04(g)52NOyg) 2 Kp fa(ss:
Ibar) and Ke {4. (s.s : 1mol dm™)

b, +HE 100CHZ K, BRAH (553 kImol") 8 & & M



